

14

پیشانی

$$\alpha + \beta = a, \alpha\beta = r$$

$$\alpha^r = a\alpha - r \rightarrow \beta^r = a\beta - r \rightarrow \beta^r = \beta(a\beta - r) = a\beta^r - r\beta = \frac{a(a\beta - r) - r\beta}{\frac{r\alpha\beta - 1}{r} - r} = \frac{a(a\beta - r) - r\beta}{\frac{r\alpha\beta - 1}{r} - r}$$

$$\beta^r = \beta(\beta^r) = \beta(r\beta - 1) = r\beta^2 - \beta$$

$$\rightarrow r\beta(a\beta - r) - \beta = 1 - a\beta - r\beta - \beta = a\beta - r\beta$$

$$\beta^8 = \beta(\beta^7) = \beta(a\beta - r) = a\beta^2 - r\beta = a(a\beta - r) = r\beta - r$$

$$r\alpha + \beta^8 = r\alpha + r\beta - r = r(a - \beta) + r\beta - r = r - r\beta + r\beta - r = 0$$

$$\frac{r(a\beta - r)}{\beta^2} = \frac{r(a\beta - r)}{\beta^2} = \frac{ra}{\beta} - \frac{r^2}{\beta^2}$$

$$\frac{1}{\beta} = \frac{\alpha}{r} \rightarrow \frac{1}{\beta^2} = \frac{\alpha^2}{r^2} \quad ra \times \frac{1}{\beta} - r^2 \times \frac{1}{\beta^2} = ra \times \frac{\alpha}{r} - r^2 \times \frac{\alpha^2}{r^2} = \frac{1}{r} (ra\alpha - r^2\alpha^2) \xrightarrow{\alpha^2 = a\alpha - r} a\alpha - \alpha^2 = r$$

$$\frac{1}{r} \times r(a\alpha - \alpha^2) = \frac{1}{r} \times r \times r = 191$$

$$\cos \theta = \frac{r - 1}{r} = \frac{1}{r} = 0.178 \rightarrow \theta = \cos^{-1}(0.178) \rightarrow \frac{\alpha + \beta}{r} = 0.178 \rightarrow \alpha + \beta = 1.78$$

$$a\alpha^r + b\alpha + c = 0 \rightarrow \alpha + \beta = -\frac{r}{1} = -r$$

$$\alpha = m + d, \beta = m - d$$

$$|\alpha - \beta| = 2d$$

$$2d = \frac{r}{r} k \rightarrow d = \frac{r}{r} k \rightarrow \alpha = -k + \frac{r}{r} k = -\frac{k}{r}, \beta = -k - \frac{r}{r} k = -\frac{a}{r} k$$

$$\left(-\frac{k}{r}\right)^r + r\left(-\frac{k}{r}\right) + a = 0$$

$$\frac{k^r}{r} - \frac{r^2 k^r}{r} + a = 0$$

$$\frac{k^r}{r} - \frac{r^2 k^r}{r} + a = 0$$

$$-\frac{a k^r}{r} + a = 0 \rightarrow a = \frac{a k^r}{r} = r, k^r = r$$

$$\left[\frac{k^r}{r}\right] - \left[\frac{a}{r}\right] = r$$

$$x_{100} = \frac{r + (-a)}{r} = -1$$

$$\rightarrow \alpha + \beta = -r$$

$$y = a(\alpha + 1)^r + 1$$

$$\alpha^r + \beta^r = (\alpha + \beta)^r - r\alpha\beta = (-r)^r - r\alpha\beta$$

$$\alpha\beta = 1 - a^r = 1 - \left(-\frac{1}{a}\right) = 1 + \frac{1}{a}$$

$$\alpha^r + \beta^r = (-r)^r \left(1 + \frac{1}{a}\right) = r - \frac{r}{a}$$

$$r - \frac{r}{a} = a \rightarrow -\frac{r}{a} = r \rightarrow a = -\frac{r}{r}$$

$$y = -\frac{r}{r}(\alpha + 1)^r + 1$$

$$y(0) = -\frac{r}{r} \times 1 + 1 = 1 - \frac{r}{r} = \frac{1}{r}$$

$$-\omega \pm \sqrt{\gamma\omega - \varepsilon(-1)m} \leq \frac{q}{r} \rightarrow \pm \sqrt{\gamma\omega + \varepsilon m} < \varepsilon$$

$$x^r + \delta x + m = 0 \rightarrow x_r + x_l = \delta, \quad x_l x_r = m$$

$$0 \leq \gamma\omega + \varepsilon m < 14$$

$$-4, \gamma\omega < m < -\gamma, \gamma\omega \quad m \in \{-5, -1, -\omega, -4\}$$

$$f(x, \delta) = \varepsilon(x) \rightarrow \delta x \varepsilon x \delta + m = \varepsilon \gamma \gamma \omega + m > 0 \rightarrow m > -\varepsilon \gamma, \forall \delta \rightarrow -\varepsilon \gamma \leq m \leq 4 \rightarrow m \in \mathbb{Z}$$

$$y = m x^r - \gamma x + \delta m - 1 \rightarrow \text{Min} \rightarrow m > 0$$

$$x = \frac{-b}{r_a} = \frac{-\gamma}{-\gamma m} = \frac{1}{m} \quad y_{\min} = m \left(\frac{1}{m}\right)^r - \gamma x + \delta m - 1 = \frac{\gamma^r}{m} - \frac{\gamma}{m} + \delta m - 1 = -\frac{\gamma^r}{m} + \delta m - 1$$

$$-\frac{\gamma^r}{m} + \delta m - 1 = 1 \rightarrow \delta m - \frac{\gamma^r}{m} = 2 \rightarrow \delta m^r - \gamma^r = 2m \rightarrow \delta m^r - 2m - \gamma^r = 0 \rightarrow m = \frac{2 \pm \sqrt{4 + \gamma^r}}{1} = \frac{2 \pm \sqrt{\gamma^r}}{1}$$

$$m = \frac{2 + \sqrt{\gamma^r}}{1} \quad m_r = \frac{2 - \sqrt{\gamma^r}}{1} \rightarrow \begin{matrix} \text{G.O.E.} \\ m > 0 \end{matrix}$$

$$\frac{2 + \gamma^r}{1} = 2$$

$$x = \frac{1}{m} = \frac{1}{2} = \frac{1}{2}$$

$$\alpha + \beta = -2(\alpha + 1)$$

$$\alpha \beta = 2\alpha - 1$$

$$\alpha, \alpha, \beta \rightarrow \alpha^r = \alpha \beta$$

$$\alpha^r = 2\alpha - 1$$

$$\alpha^r - 2\alpha + 1 = 0 \rightarrow (\alpha - 1)^r = 0 \rightarrow \boxed{\alpha = 1}$$

$$x^r - \gamma x^r - \delta = 0$$

$$\rightarrow x^r = t \rightarrow t^r - \gamma t - \delta = 0 \rightarrow r t^{r-1} - \gamma$$

$$S = -\gamma \quad p = -\delta$$

$$\begin{matrix} 2\gamma\gamma\delta - \gamma^2\gamma - \gamma\gamma\delta - 1\delta \\ \delta = -1\gamma\delta - 1\delta = -2\gamma\delta \end{matrix}$$

$$Q(\omega)$$

$$y = k x^r - \varepsilon x + 4$$

$$x = \frac{-b}{r_a} = \frac{-\varepsilon}{-\gamma k} = \frac{\varepsilon}{\gamma k}$$

$$y = k \left(\frac{\varepsilon}{\gamma k}\right)^r - \varepsilon \times \frac{\varepsilon}{\gamma k} + 4 = \frac{\varepsilon^r}{\gamma^r k} - \frac{\varepsilon^2}{\gamma k} + 4 = \frac{\varepsilon}{\gamma k} + 4$$

$$\frac{\partial}{\partial \varepsilon} = \frac{-\Delta}{\varepsilon^2} = \frac{-(14 - \gamma^r k)}{\varepsilon^2} = \frac{-14 + \gamma^r k}{\varepsilon^2} = \frac{\gamma^r k - 14}{\varepsilon^2}$$

$$S\left(\frac{\gamma}{k}, \frac{\gamma k - \varepsilon}{k}\right)$$

$$\frac{\gamma k - \varepsilon}{k} = -\varepsilon \left(\frac{\gamma}{k}\right) - \varepsilon$$

$$\frac{\gamma k - \varepsilon}{k} = \frac{-1}{k} - \varepsilon \rightarrow \frac{\gamma k - \varepsilon}{k} = \frac{-1 - \varepsilon k}{k} \rightarrow \gamma k - \varepsilon = -1 - \varepsilon k \rightarrow 1 \cdot k = -\varepsilon \rightarrow k = -\varepsilon$$

$$k(x_1)^r - \varepsilon(x_1) - 4$$

$$- \varepsilon = k(x_1)^r - 4 \rightarrow r = k \left(\frac{r}{k}\right)^r \rightarrow k = r$$

$$\begin{cases} x_1 = 1 \\ y_1 = -1 \end{cases}$$

$$-m\alpha^V + m\alpha + 1 = -m - \alpha$$

$$-m\alpha^V + m\alpha + 1 + m + \alpha = 0$$

$$-m\alpha^V + (m+1)\alpha + 1 + m = 0 \xrightarrow{\text{...}} (m+1)^V - \varepsilon(m+1)(-m) < 0$$

$$- \varepsilon(-m^V - m)$$

$$= \varepsilon m^V + \varepsilon m$$

$$\varepsilon(m^V + m)$$

$$(m+1)^V - \varepsilon m(m+1)$$

$$(m+1)(m+1-\varepsilon m) < 0$$

$$\omega m^V + 4m + 1 < 0$$

$$(m+1)(\omega m + 1) < 0$$

$$-1 < m < -\frac{1}{\omega}$$

$$0, \omega, 1$$

$$\frac{1}{\omega}(-m+1) > 0, \quad (m+1) < 0$$

$$\rightarrow -1 < m < -1$$

$$-m < 1$$

$$m < -\frac{1}{\omega}$$

$$\frac{1}{\omega}(-m+1) < 0, \quad (m+1) > 0$$

$$-m < -1$$

$$m < 1$$

$$m < -\frac{1}{\omega}$$

$$m > -1$$

$$\rightarrow -1 < m < -\frac{1}{\omega}$$

$$\begin{aligned} \varepsilon m^V + \varepsilon m &= 1 \\ \varepsilon m^V + \varepsilon m &= 1 \end{aligned}$$

$$t = \frac{v \pm \sqrt{4a}}{\gamma} \rightarrow x^V = \frac{v \pm \sqrt{4a}}{\gamma}$$

$$\wedge \partial 1 \sigma$$

$$x = \pm \sqrt{\frac{v \pm \sqrt{4a}}{\gamma}} \rightarrow s = 0, p = -\frac{v \pm \sqrt{4a}}{\gamma}$$

$$\gamma p^V - \gamma s p + \gamma s = \gamma \left(-\frac{v \pm \sqrt{4a}}{\gamma} \right)^V =$$

$$\frac{1}{\gamma} (\varepsilon a + 4a + 1 \varepsilon \sqrt{4a}) = \omega a + v \sqrt{4a}$$